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QUESTION 1

You designed a CardValidation.java Java source file. You also have the corresponding CardValidation.class file. As part
of invoking a Java class method, you executed this command at the command prompt:

loadjava -user oe/oe CardValidation.java

Which statement is true about the command?

A. It loads the Java code into the database.

B. It publishes Java methods in CardValidation.java.

C. It loads the metadata related to the Java class file into the database.
D. It loads the Java class file into the Java pool in the database instance.

Correct Answer: A

QUESTION 2

View the Exhibit.

ICREATE OR REPLACE FROCEDURE get_income_level ([p_email VARCHARZ DEFAULT MULL)
I5

TYPE CV_CUsTtyp IS REF CURSOR;
o CW_CUuCtoyp;
v_income customers.income_levelSTYPE;
V_Stmt VARCHARZ (4000 o
BEGIN
v_stmt := "SELECT income_level FROM custome- RE cust_email = """’
|l p_email I] """ %
DEME_OUTPUT. PUT_LINE("5QL statement: ' mi);

OPEMN CV FOR V_sSEntC: Q
LUUF
FETCH cv INTU v_income;
EXIT WHEN CWANOTFOUND;
DEMS_OUTPUT. FUT_LINE( "'Inc 1 Hds: " |v_income);
END LOOF;
CLOZE Cwv; E

EXCEPTION WHEN OTHERS TH
dhns nurpuT . PHT | TN rmy:
dbns_output. PUT_L statement: ' || v_stmt);

END get_income_level;

How do you reduce the chances of SQL injection for the procedure?
A. Execute the SQL statement in V_STMT as dynamic SQL.

B. Remove the default value for the arguments in the procedure.
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C. Convert the condition in the WHERE clause to be accepted from the user and concatenated.
D. Convert the SELECT statement to static SQL, placing the value of P_EMAIL into a local variable.

Correct Answer: D

QUESTION 3

Examine the PL/SQL code for the GET_TABLE_MD function given below:
CREATE OR REPLACE FUNCTION get_table_md RETURN CLOB IS

h NUMBER;

th NUMBER,;

doc CLOB;

BEGIN

h := DBMS_METADATA.OPEN(\TABLE\);
DBMS_METADATA.SET_FILTER(h,\W\SCHEMA\W' \\'HR\\);
DBMS_METADATA.SET_FILTER(h,\\NAME\\',\'TIMECARDS\\);

th := DBMS_METADATA.ADD_TRANSFORM(h,\'DDL\\);

doc := DBMS_METADATA.FETCH_CLOB(h);
DBMS_METADATA.CLOSE(h);

RETURN doc;

END;

Which statement is true about the compilation and execution of the function?

A. The function retrieves the metadata in Extensible Markup Language (XML) format for creating the TIMECARDS table
in the HR schema.

B. The compilation produces an error because DBMS_METADATA.SET_FILTER(h,\\'SCHEMA\' \VHR\\)is not placed in
the correct order.

C. The function retrieves the metadata as a data definition language (DDL) statement for creating the TIMECARDS
table in the HR schema.

D. The execution of the function produces an error because multiple objects are fetched and
DBMS_METADATA.FETCH_CLOB is not called in a LOOP.

Correct Answer: C
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QUESTION 4

To examine the dependencies between all PL/SQL objects and the tables and views they reference, you executed the
following query as the user OE:

SQL> SELECT owner || \\.\\' || NAME refs_table

, referenced_owner || \\"\\' || referenced_name AS table_referenced

FROM all_dependencies

WHERE owner = USER

AND TYPE IN (WPACKAGE\, W\PACKAGE BODY\\',\'\PROCEDURE\\', \'\FUNCTION\')
AND referenced_type IN (WTABLE\, \WVIEW\\)

AND referenced_owner NOT IN (\WSYS\V', WSYSTEM\\)

ORDER BY owner, NAME, referenced_owner, referenced_name;

Which statement is true about the output of the query?

A. It displays all PL/SQL code objects created by user OE that reference any table or view owned by other users except
SYS and SYSTEM..

B. It displays no rows because this query needs to be executed as the user SYS for required results.
C. It displays all PL/SQL code objects that reference a table or view directly for all the users in the database.

D. It displays only those PL/SQL code objects created by the user OE that reference a table or view created by the user
SYS.

Correct Answer: A

QUESTION 5

The PLSQL_OPTIMIZE_LEVEL parameter is set to 2 for the session.
Examine the section of code given:

FUNCTION p2 (p boolean) return PLS_INTEGER IS ...

FUNCTION p2 (x PLS_INTEGER) return PLS_INTEGER IS
PRAGMA INLINE(p2, \WYES\W);

X := p2(true) + p2(3);
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Which statement is true about the INLINE pragma procedure calls?

A. Only the call to the P2 function with BOOLEAN as the argument is inlined.

B. INLINE pragma affects both the functions named P2 and is called inline.

C. Only the call to the P2 function with PLS_INTEGER as the argument is inlined.

D. None of the functions are inlined because inlining is not supported for overloaded functions.

Correct Answer: B
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